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Answer all the questions. Show yout workings: Tearly

(a) Axrange the follomng m ascending order

0.126, -1 0.13,0.135.

V8

@) Fropx the numbers given in (a), write down.the ittational number(s).

.Sqlve.i—;—l—=.4-5
11
Giventhatx:y=03:05and y:z= = E’

(a) simplify x:yand y:z,
(b). fnd x:y:z

Three bus services are; scheduled to leave Bukxt Batok bus mterchange at ‘

regular intervals of 6 minutes, 15 minutes’ and 20 milfiutes respec‘avely

Given that the three bus services leave the bus interchange together at 3 pm,

determine the' t!me when the three bus semces next leaves the biis

' mterchange together

Andrew walks at an average speed of 0.6 m /s for 25 minutes.
(a) Convert 0.6 m/s to kin/h.
(b) Calculate the distance covered by Andrew in’km.

Cindy invests $4000 in a savings scheme that pays 1.5% simiplé interest per
annum,

(a) Find the interest Cindy receives for each yez;r.

(b) Calculate the time taken for Cindy’s investment to reach $4300.
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@ Evaluate 5- [ 7~'+(=-§)x~,2;} giving your answet i its Simplest - [3]

form; Show all W‘o‘rkmgs cl‘ea'rly‘

T 4_.982, ,

.thé;s‘eﬁgj;)feSsion to2 s‘i‘gn‘iﬁ_cant ﬁguze,s

te the value Qf >, by rounding off the numibers fn  [2]

8 The fejlomng d1agram shows the graph of parkmg charges ita ..hoppmg mall fora
24-hour: penod
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No. of hours parked

Find

() the number of minutes of free parking offered by the catpark, [
(b) . the duration a person left his car in the carpark if he pays $6; [1]
(c) thecost of parking if he parks his car for 4.5 hours, o [1]
(d) the rate of parking charges (per hour) between 1 to. 4 hours. [21

9 (a) Expand and simplify 4x—4(x+3). - 21

7x 1 . (3]

() Solve 315y 5

10 - Siti bought x pencils for $30 and 4 pens for $y.
(a) Write anal gebraic expression in terms of x for the price of one pencil. |1}
(b) Find an algebraic expression in terms of x and y for the cost of 2 [4]

pencils and 8 pens. Factorise your answer fully.



¥t Thediagrany shows 3 garden with dimension.x mby p-m, where x and y-are
-positive infegers. When the measuremients are corrected tothe nearest 10.m, the

garden measures 200 m by 110 m. .

Xm.

oym 5

(a) the smallest possible perimeter of the garden, 3

i
!

@) thelargest possible area of the garden. 12

12 . Angelais 3 times as old as Derek and the sum of thelr present ages is 52. Let
Derek’s preseit age'be x. L
(ﬁ‘j ’ EXpress Angela’s present age in termsof x. e ‘[1]
@) Fommnan equation in terms of x and solve this equation. 12}

() Mence, find Angela’s age 3 years ago. _A 2]

13 (@) During a search-and-rescue operation, é‘hel'icopter ataheightof90m (1]
above:sea level, spots an unidentified object directly below it. The'
uhidentified objéct is 4 m below sea level, Find the distanice between
the helicopter and the unidentified object.

(b) ‘'The table shows the temperatures in 2 éities on Tuesday.

Cities T TF

Temperature in the morning (°C) 297 | -156
Temperature in the afternoon (°C) | 334 | -12.1

(i) Find the average temperature of these two cities in the moming. [2]
(ii) Determine which city experienced a greater change in 3]
teriperature from morning to afternoon. Support your answer

with clear workings shown.
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Answer fhie whole of question 14 on a sheet'of graphi paper -

g Ay for = TER LS

Psing asealéok 1 om fo reprosent T

‘and L em tonepresent Lunit onthey-axis fr ~1 5y <9, dewatid
aferal PORS whoss verticesare ¢6,—1): O 643,
S RIS (8. L

Tabe] the-quat

Find the gradient of the line segrient OR. -~

Wiite down the coordinates of the point. where the line. QR éuts they-

axis;. -

Hence, write down the equation of theline QR

'State the equation of the live RS.

END OF PAPER
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Secondary 1E EM MYE 2014
Paper 2 Marking Scheme

la .. R .
0.125,0.125,0.13,—1—- Bl -1
: T No marks if —= is written as 0.3536
b L ' | No marks if —= is written as 0.3536
—= , o marks if ——= 18 written as 0. :
5 Bl N |
Marker’s report: .
_2 v — _ .
| _l__._1_=_4.5 _ _— Ac_:t_:_ept‘(_)l
2x 2 : OR ‘
i
x 2x
. 1 1
- ' ——==45
1=x_45 |M1 2% 2
L oo w
A N e -
10 1=10x
p=t Al
co10. T
Marker’s report: '
3a Xy
0.3:05 :
3:5 Bl -
y:.z
1.1
7 2
2.7 Bl
3b
xX:y:z
3:5 _
2:7 B1
6:10:35
Marker’s report:




4
2 6,15,20 Accept listing method : M1
5 3, 15,10
3 3,3,2 6: 6,12,18,...,60
2 11,1,2 : 15:  15,30,45, 60
L, 1,1 M1’ | 20: 20,40,60
LCM of 6, 15 and 20 = 60 Ml {LCMof6,15and20=60 |M1l
3 pm + 60 minutes =4 pm Al |3 pm+60minutes=4pm | Al
_ Marke_r’s' report:
>a 0.6 m/s= 061000 Bl Accept 2—4-
1+3600 ' 25
. _=2.16kmh
5b distance = speed x time - Accept 9
25 Ml 10
_ 0.9km A
Marker’s report:
: ‘Interest =-I—)'—l—{-T—"
100
_ 4000x1.5x1 .
- 100 |
A =$60 Bl
6b $4300—-$4000 = $300 Ml
390 5 years Al
60
Marker’s report:
7a 35, 2 5 Mi | Accept? 375
5-[-—+(——)x=]=5-(-——~-=
[ +( ] 6) 7] ( 8)
19
=5+— M1
8
_q3 Al
8




7b 10.44x0.103 10x0.10 M1 | No M1 awarded if students write
4982 50 57or 0.7 " '
1 :
=3 Al | Accept 0.2
Marker’s report: -
8a "1 60 minutes B1
8b- 3 hours B1
8¢’ $9 | Bl o . -
.'8d- T $9 T T Accept$3/r—B2. -
3hr : k
_ : Al Students should also be able to obtain
=83/ hr : . .
. | the answer by examining the graph.
.{ This would require a higher .
understanding of the concept of rate.
| Marker’s report:.
%a Bx—A(x+3) = dx—4dx—12 | Ml
9b Tx. 1 '
3(x+5) 6
(x+5) M
42x =3(x+5)
42x =3x+15 |
39x =15 I M1
x> Al
13
Marker’s report:
10a 30)~
g ==
( ¥ - B1
10b Cost of 2 pencils and 8 pens
300 ), of Y
0
- $(§_) +3(2y) M1
x .
30
= $2(—~ + y) Al
X
Marker’s report:




11a 2x+2y=2(x+y) M1 Iv;‘l for formula
of perimeter
=2(195+105) M1 M1 for 195 and
=600m : Al for 105
11b Largest possible area =204 x114 Ml M1 for 204 and
<y Al for 104 ’
=23256m
Marker’s report: -
12a 3x Bl
. 12b 3x+x=_52~ M1
' - 4x=52 :
. x=13 Al
12¢ 3x-3=3(13)-3 M1
' =36 Al
Marker’s report:
[132 | 90m~(4)m - I
=94m Bl
13b1 29.7 + (—15.6) = 7.05°C MI1,Al .
2 - ,
13ba City X- -
33.4-29.7= B
37°C M
City Y- M1
-12.1-(-15.6) =3.5°C
Hence, City X. Al
Marker’s report:
;
14a o D1 — for all
® correct points
E s D1 —range of x
’ and y-axis
Q 3.
, i D1 — scale and
labeling of
POQORS and axes
B -3 3 3 2 4 2 3 ]
P




14b . 8-3 M1
gradient =
1-(-4) Al
=1 ,
| 14c 0,7) Bl
14d y=x+17 Bl
14e x=1 B1

Markeér’s report:

——==End of MarkiScheme =




